
         

         

         

         

         

         

         

         

         

Divide the grid into geometric shapes, following the grid lines or the diagonals of the grid 

squares. Each shape must contain exactly one shape inside, which must agree with the shape. 

The rectangle symbol stands for any non-square rectangle. The trapezoid symbol stands for 

any trapezoid. The entire grid must be used.  

Puzzle Source: Puzzle Box, Volume 2 (Dover Publications)           Puzzle 14 Created by: Erich Friedman 


